
Year 3 Subtraction Word Problems 

 

1.  A shop has 276 pairs of socks. 145 pairs are white sport socks. How many other 

pairs are there? 

 

2. There are 289 children in a school. 154 are in Key Stage 2. How many 

children are not in KS2? 

 

3. There are 395 pencils in the school store cupboard. 168 are 

given out to some teachers. How many are left in the store 

cupboard? 

 

4. A flower market has 432 tulips. A florist buys 155 tulips. How many are left? 

 

5. A farmer has 584 cows. He takes 246 to a new field. How many are left 

behind? 

 

6. A teacher counts all the exercise books that her class has used during the year 

and finds there are 237 in total. 96 are Maths books. How many other books are 

there? 

 

 Answers 1. 131, 2. 135, 3. 427, 4. 277, 5. 338, 6. 141 

 


